
ERRATA TO VOLUME 1 OF “It’s About Time”

By Roger Cooke

p. vii, line 6: ‘sesquilateral’ should be ‘sesquialteral’.

p. 18, line 21: ‘so that linear operator’ should be ‘so that a linear operator’.

p. 38, line −12: ‘hyperbolic, plane’ should be ‘hyperbolic plane’.

p. 45, line −17: ‘that is normally’ should be ‘that normally’.

p. 66, line −15: ‘vertex a angle’ should be ‘vertex angle’.

p. 67, line −14: ‘it u were a length’ should be ‘if u were a length’.

p. 69, lines 3 and 5: ‘cosine’ should be ‘secant’.

p. 121, line 2 (Eq. 3.3): First set of parentheses should be large, as in Eq. 3.4 immediately following.

p. 132, line 1: ‘orbis’ should be ‘orbits’.

p. 134, lines 1 and 2: ‘a and b’ should be ‘a(1+ e) and a(1− e)’, and the expression ‘b = a
√

1− e2,’
should be inserted between the comma and the words ‘and T ’.

p. 159, line −12: ‘ “raise” ’ should be ‘to “raise” ’.

p. 204, line 5: ‘)(3/2)’ should be ‘)3/2’.

p. 210, lines 13–14: The phrase ‘reciprocal of the’ should be removed.

p. 222, line 3: ‘κ = (g11g22 − g12g21)Γ3
11Γ

3
22 − Γ3

12Γ
3
21’ should be

‘κ = (g11g22 − g12g21)
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’.

p. 240, line 23: ‘given’ should be ‘give’.

p. 291: The statement of Theorem 6.14 should be in italic font.

p. 300, line: −10: ‘Hf ’ should be ‘Hz’.

p. 318, lines 6 and 9: ‘dσ2’ should be ‘ds2’.

p. 318, line 12: ‘ds2’ should be ‘c2 ds2’.

p. 319, line 4: ‘ds2’ should be ‘dσ2’.

p. 338, line 25: ‘1573’ should be ‘1473’.

p. 356, line 12: ‘Yet do’ should be ‘Yet we do’.
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